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Solving Trigonometric Equations

1) Find all solutions to the given equations below

1) 2c0s3x +1=0 sec?’x —2=0

3) 2cos?x +sinx =1 (tanx +1)(J§tanx —1)=0

5) 2c0s* X —cosx =1 sinx +2=3

7) tan’x —4tanx +2=0 cos’x =sin*x +1

9) 2cotx +1=-1 5sec’® X =6secx
tanx —cotx =0 9sin®x —5sinx =1
2c0s?x —~/3cosx =0 2c0s’ x —cosx =1
(cscx +2)(cscx —«/§)=O —2sin’x =3sinx +1
cos’ X +2c0sX +1=0 (cotx —1)(\/§COtX +1)=0
4cos® x +4cosx =1 csc’x —2cotx =0
cos’x =sin*x +1 sin® X CoSX = COSX
2tan®x sinx —tanx =0 9sin®x —6sinx =1
3cot’x —3cotx —1=0 cos®x —sin®x =0
2c0s*X +2cosx —1=0 sinx cos’x =0
tan’x +4tanx +2=0 sinx —2sinx +3=0

2sinx =1-—2cosx cotx +2cscx =3

2tanx )
3 anix sec” X =2tanx +4

-2 _ - _ 2 —

3sin“x —sinx =2 36) 2c0s“ X +5c0sx +2=0
2 _ 2y _

2C0s° X +cosx =1 38) 5sec” X =6secx

4c0s?x =1=0 40) 3sin?x —sinx —=1=0
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